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I. Help Satish to find out and circle the mistake in the following image.

Input Hash sum
SR ; . DFCD3454 BBEA788A
L Fox — » Hash function > 751A696C 24D97009 CA992D17
SN z . 52ED879E 70F71D92
. lamagoodboy = P Hash function > 6EB69570 0SE3CE4 CAG945D3H
~ lamabadboy = B Hash function > 52ED879E 70F71D92

6EB69570 08E03CE4 CA6945D3H

ITI. Write Sirish to fill in the blanks related to Big Data, in the following image.

— Variety

H How fast data is traveling or being processed
@ VeIOCIty (the speed of datageneration, streaming,
and operation)

B I G DATA I Amount of data in terms of the potential of

terabytes to petabytes and up

Data reliability and trust; verifying and
validating data

— @ Value
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